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Note: This question paper contains two parts A and B' . ---.^- ^, ^,,oo+innc inpart A is compulsory which canies 25 marks' Answer all questions in Part A' Part B

consists of 5 Units. Answer rry;;; t'i qutttion from each unit' Each question caries

10 marks and may have a' b' c as sub questions'
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i-" ,lli ,r, *J;l
What are durable goods? Give suitable examples l2l

What is the shape of-*. for perfectly inelaitic demand? Clearly indicate parameters

of X and Y axis. 
'r vur Yv rvr rv----'-r 

[]i

slxillillli,iiii,,.Lftechnicarsubstitution? , '' ., .,' , ,i.'i i ' i:i ,

F{ow does o.murraouru;''to. the fltrm.in ;'perfect completion look like? ' 121 ',

What is transfer Pricing? i3]

no* ao you a.nnr puftack period? 
[3]

Define IRR. 
.. - izl

Define debtor turnover ratio'

what is the formula ior calculating depreciarion under stpight line mgthodl ['] 
,

i"]'.i,.l',:,:"."...,.'|noo,u...
' '' (s0Marks)

Whatarenotmativestatements?Whatisitsrelevancetomanagerialeconomics?
Explain with illustrar;;;h. law of diminishing marginal utility. [5+5]

OR

A ftr.m increasesiits'advertising expqnditure from'Rs' 6lakhs to Rs' 7lakhs' its sales 
'

increase,.s, by 2o%,rio:n"in."iiiri#ilh*; "iqqooo,rnits 
with,r'price of the items , ,,''

remaining the same. il;;** iil.;Jrl*itJ*.nt elasticity of demand' '

Bring out the difference beNv-een uutonornorr'J*una and derived demand' [6+4]

State and briefly explain Cobb-Douglas Production function'

Why short- run uut'ugt cost culve is 'U' shaped?

.."-.. i'-,. -, ,OR'' ^:" '', ', i ': 
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Wtlat,arettre apptications of Break.gven analysis? 'i i' 
,

wi;;;: il it .,ii:;t tvpes'or external economies?
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6. Bringoutthedifferencesbetweenperfectmarketandmonopolybyclearly"",u"Titl
the nature of these two' 
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Cash flow for II Year
Cash flow for III Year
Cash flow for IV Year
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8. A firm whose cost of capital is l0% is considering two exclusively mutual projects A

and B, the details of which are given as below:
B

t'-"'..

i'..'.:

24,00,000
45,00,000
55,00,000

24,0-0,000.

26,00,000
55,00,000
60,00,000
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What are various liquidity ratios? Explain each of them showing their for'mqlae'

What ii contra enrrl ?

OR

From the following particulars, write out a cash Book, lvith cash, Bank and Discount

columns of M/s Rajni and co. of chenilai tbr the month of Jan 2018 and balance the

cash book.

1,00,00,000. The expected returns for the

I year Rs.50,00,000
Rs. 50.00.000

:i::: ,,
Rs.30;00,000" ':1

IV year Rs.60,00,000

Calculate the internal rate of return (IRR). If the cost of the capital for the company is

15%, will you recommend this project? I10l
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Compute
i.;l

funlioth the $tiljeots. at l}Yo
i ,.. "--'OR'

i 'ti'''.
';;,..,:;,........-.;

hand
ttv &

28;'Drew for offipe usg Rq. 5000 i":'' :- *" i r i ,

3li Har.iSh paid directly into our B-ank Account Rs.. 5--.000' '.
,....._....,' ; ' i.........' i 'r

15. Paid to Govind by cheque Rs. 5200 in full settlement of his account for Rs' 5500'

iO. Rr".ir"d for cash sales;cash Rs'1750 and chequeRs'1000'

Z2.PaidRam&Co.bychequeRs.12,000,discountallowedRs.450.
26.Paidby cheque to 

-Shanti 
Kumar Stores, for private use of the proprietor Rs'5250'


